Solve the inequalities – Please Explain

1. [image: image1.png]



2. [image: image2.png]



3. 10< -t - 10 < 15 

4. Solve the inequality. Give the result in interval notation. 

6x + 3 < 9 or 3x − 10 > 5 

5. If k [image: image3.png]


0, then |x| [image: image4.png]


k is equivalent to

6. Solve the equation, if possible. (If it is not possible enter NONE.) 
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 (smaller value)
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 (larger value)

7. Solve the equation, if possible. (If it is not possible enter NONE.) 

|6 - x| + 4 = 14 

x = 1[image: image10.wmf]
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 (smaller value)
x = 2[image: image12.wmf]
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 (larger value)

8. Solve the inequality. 

|2x + 7| ≤ -8 

9. Solve the inequality. 

|4x| + 6 > 10 
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